City of Abbotsford

PO Box 589, 203 N. First Street, Abbotsford, WI 54405

ABBOTSFORD CITY COUNCIL

TO BE HELD MONDAY February 1, 2021 at 6:00 P.M. AT THE ABBOTSFORD COUNCIL CHAMBER

- 1. Call the regular meeting to order
 - a. Roll call
 - b. Pledge of Allegiance
- 2. Establish Order of the Day
- 3. Comments by the Mayor
- 4. Administrator's Update
- 5. Comments by the Public 2 minute time limit
- 6. Minutes from the City Council Meeting held January 4, 2021
 - a. Waive the reading and approve/disapprove the minutes
- 7. Minutes from the City Council Meeting held January 6, 2021
 - a. Waive the reading and approve/disapprove the minutes
- 8. Minutes from the Committee of the Whole Meeting held January 20, 2021
 - a. Waive the reading and approve/disapprove the minutes
- 9. Incidents/Accidents/Training
- 10. Approve/Disapprove Police Department Budget Amendment
- 11. Approve/Disapprove New Purchasing Policy
- 12. Approve/Disapprove Further Actions Regarding 318 N. First Street
- 13. Public Works Update
- 14. Approve/Disapprove a 5 year Road Plan
- 15. Approve/Disappove Street Sweeping Quote
- 16. Approve/Disapprove Replacing Red Arrow Park Sign
- 17. Approve/Disapprove Resurfacing N. 3rd St Using Unused Available Grant Funds and TIF Funds
- 18. Approve/Disapprove Lowest Responsible Bidder for 4th Ave Project
- 19. Water/Wastewater Update
- 20. Approve/Disapprove New Flouride Scale
- 21. Approve/Disapprove New Pump for 3rd Ave Lift Station
- 22. Approve/Disapprove Flow Meter for Fill Station
- 23. Approve/Disapprove Moisture Probe for Ozone Plant
- 24. Approve/Disapprove Operator's License
- 25. Items for Future Agendas No Action Will Be Taken
- 26. Closed Session Pursuant to Section 19.85 (1)(c) Considering employment, promotion, compensation or performance evaluation data of any public employees over which the governmental body has jurisdiction or exercises responsibility. (City Administrator)

27. Any action, if necessary

28. Next Meetings: Committee of the Whole –February 17, 2021; City Council – March 1, 2021

29. Adjourn

City Council February 1, 2021 Mon, Feb 1, 2021 6:00 PM - 9:00 PM (CST)

Please join my meeting from your computer, tablet or smartphone.

https://global.gotomeeting.com/join/218959661

You can also dial in using your phone.

United States: +1 (872) 240-3212

Access Code: 218-959-661

New to GoToMeeting? Get the app now and be ready when your first meeting starts: https://global.gotomeeting.com/install/218959661

Minutes from the January 4, 2021 Abbotsford City Council Meeting held in the Abbotsford City Hall Council Chambers.

City Council called meeting to order – Mayor Voss called the meeting to order at 6:00 P.M.

Roll Call: M. Rachu, Weix, D. Rachu, Soto, Huther, Faber, Weideman, and Kramer. Faber – Absent

Others Present – Administrator Grady, Water/Wastewater Supervisor Soyk, Public Works Director Stuttgen, Tracy Olson, Kevin O'Brien (Tribune Phonograph)

Pledge of Allegiance – Held

Establish Order of the Day – Move Public Works items to after public comment.

Comments by the Mayor – Mayor Voss stated that vaccinations for health care workers has begun in Curtiss.

Administrator's Update – The sale of the new water bond has been delayed because the USDA had to sign off. We heard today that the National USDA office has finally signed off and, hopefully the state office will sign off this week. That would put pricing at the end of this week/early next week and closing as soon as next week.

Public Comments – None

Public Works Update – The Christmas decoration are being taken down. It looks like Public Works finished under budget. Public Works Director Stuttgen asked the City Council consider carrying over some of the surplus fund and placing it into savings for future capital purchases. The City continues to ask Frontier to repair their equipment.

Minutes from the City Council Meeting held December 16, 2020 – Motion to approve by *Weix/M. Rachu. Unanimous.*

Minutes from the December 21, 2020 Annual TIF Meeting - Presented

Incidents/Accidents/Training - none

Questions Regarding Property Taxes – Administrator Grady explained that the City levy went up 1-1/2% as approved by the City Council. The percentages seen on the City tax bills are different than 1-1/2% for a number of reasons.

In Clark County, the share of the city's equalized value increased. This caused more of the city's levy to be spread on to Clark County properties. In addition, the value of the TIF increased. While property owners that are not in the TIF are not supposed to pay taxes associated with the TIF; the TIF does affect all properties. When the County Treasurer applies the city taxes to individual tax bill the amount used is the City levy plus the TIF levy. That total number goes to all properties in the County. While the TIF properties pay the TIF taxes it inflates the actual percentage of property taxes increase shown on the tax bill.

In Marathon County, the same issue regarding the TIF affected property owners. There was, however, another issue that cause taxes to go up in Marathon County. Abbyland Foods had their assessments reduced by \$3.36 million. The lowering of the assessment lowered Abby land's property taxes. However, it also had the effect of spreading the taxable value of the \$3.36 million on to every other taxpayer in Marathon County. Administrator Grady pointed out that in the current issue of *Tribune Phonograph* there is an editorial on *Dark Store* that shows this very effect.

Approve/Disapprove Changing Taxes Due on Clark County Parcel 201.0666.001 due to Assessors Mistake – The former City Assessor mistakenly attributed this parcel to O'Reilly Auto Parts; reclassified it to commercial; and raise the value to \$25,000. Administrator Grady spoke with the new assessor about the issue and it will be fixed for the following tax year. However, this year needs to be addressed. The correct tax owed on this property is \$2.89 instead of \$722.74. The property owner will write the City a check for the \$722.74 and the City will give the property owner a check for \$719.85 to correct the problem for this year. Motion to approve by Weix/D. Rachu. Unanimous.

Discuss/Approve/Disapprove Further Actions With Advanced Disposal Regarding Smaller Trash Carts – The City Council decided to address this issue at another time.

Water/Wastewater Update – The pump was repaired at the water treatment plant. Public Works was able to install a new radiator at the Porkie plant.

Approve/Disapprove Operators Licenses – Motion to approve by *M. Rachu/Weix. Unanimous.*

Discussion: Meeting Attendance – Some members of the Council believe that neither the Council nor its committees should have to continuously rehash settled issues due to some members not being present at meetings.

Closed Session pursuant to Wis. Stat. s. 19.85(1)(g). Conferring with legal counsel for the Common Council who is rendering oral or written advice concerning strategy to be adopted by the body with respect to litigation in which it is involved, namely Marathon County Case No. 19-CV-601, *City of Abbotsford vs. Chelt Development, LLC et al*

Motion to go into closed session by *D. Rachu/Weix. Roll Call Vote. M. Rachu - yes, Weix - yes, D. Rachu - yes, Soto - yes, Huther- yes, Faber - yes, Weideman - yes, and Kramer – yes*

Motion to go into open session by Weix/Huther. Roll Call Vote. M. Rachu - yes, Weix - yes, D. Rachu - yes, Soto - yes, Huther- yes, Faber - yes, Weideman - yes, and Kramer – yes

Items for Future Agendas – Insurance and bank accounts.

Next Meetings: City Council – January 6, 2021, Committee of the Whole –January 20, 2021

Motion to Adjourn by Huther/M. Rachu. The City Council adjourned at 7:20 P.M.

Minutes from the January 6, 2021 Abbotsford City Council Meeting held in the Abbotsford City Hall Council Chambers.

City Council called meeting to order – Mayor Voss called the meeting to order at 6:00 P.M.

Roll Call: Weix, Soto, Huther, Faber, Weideman, and Mayor Voss. Kramer and M. Rachu – Absent

Others Present – Administrator Grady, Butch Wiegel (Klinner Insurance), Ryan Bedroske (Mac Gillis Agency) and, Kevin O'Brien (Tribune Phonograph)

Pledge of Allegiance – Held

Establish Order of the Day – No changes

Comments by the Mayor – Mayor Voss asked to the Council to make sure that they filled in their time sheets.

Public Comments – None

Discuss/Approve/Disapprove Insurance Carrier (Property/Auto//Liability) for 2021 – Butch Wiegel and Ryan Bedroske presented their proposals. Both quotes came in less expensive than the current carrier. Both quotes were pretty comparable in coverage.

The Klinner quote came in ~\$15,000 cheaper than the other quotes. The City Council questioned how the quote could be so much cheaper. Mr. Wiegel stated that they coverage came from the City's current insurance policy and that everything matched up. Their insurance carrier just has that much better rates.

Motion to approve Klinner Insurance plus the expense of bonding by *Huther/Weix. Unanimous.*

Discuss/Approve/Disapprove Merging General Fund Savings Accounts and Creating New Savings Accounts -

Approve/Disapprove Creating a Library Retirement Savings Account at Forward Bank- The City Council discussed the savings accounts for the general fund. The City Council decided that all of the accounts should be closed and re-opened with different account numbers. The following accounts are to be treated as follows;:

- Forward Bank Account is to be split by the City Auditor and the money transferred to the savings of the respective department. Motion by *Huther/D. Rachu. Unanimous*.
- The Account labeled ??? is the Public Works Equipment Account
- A General Fund Savings Account shall by be created.
- The monies from the Landfill Account shall be placed in the new General Fund account. The DNR had informed the City in 2020 that this fund was no longer required. Motion to approve by *Huther/Weix. Unanimous*.
- The monies in the Bond Redemption fund shall be placed in new General Fund Savings account. Motion by *Huther/D. Rachu. Unanimous.*
- The Nursing home CD shall stay in place until ,pre can be found out about interest rates and penalties for moving the money out of a CD.
- City staff requested a separate account for the eventual replacement of the jetter. This savings account would be fund with fees from renting out the jetter. Motion to create the account and fund it with 2020 rental fees received by *Huther/Faber. Unanimous*.
- The Library Board requested a separate savings account for retirement savings. Motion to create the account by *Huther/Weix. Unanimous.*

Motion to Adjourn by Faber/Huther. The City Council adjourned at 7:01 p.m.

Minutes from the January 20, 2021 Abbotsford Committee of the Whole Meeting held in the Abbotsford City Hall Council Chambers.

Mayor Voss convened the meeting at 6:00 PM.

Roll Call: M. Rachu, Weix, D. Rachu, Soto, Huther, Weideman, and Kramer. Faber – absent

Others Present – Administrator Grady, Public Works Director Stuttgen, Water/Waste Water Manager Soyk, Library Director Jochimsen, and Kevin O'Brien (Tribune Phonograph)

Pledge of Allegiance - Held

Establish Order of the Day – No Changes

Comments by the Mayor – Mayor Voss reminded the Council that the issue of sewer rates was supposed to come up again now. Mayor Voss suggested waiting until after the audit to discuss sewer rates.

Administrator's Update – Administrator Grady spoke to Abby Bank regarding the Nursing Home CD. It is currently receiving an interest rate of 2.3% which is much better than anything currently available. It matures in 2026. There would be no penalty if the City were to cash in the CD or convert it into a different type of account.

Administrator Grady spoke with Graff Law firm regarding the house 318 N. First St. This is the house where the owner already took out a raze permit. She recommend sending the owner a letter telling him that he has 30 or 45 or 60 days to raze the building. If he doesn't then the City Council should order the Police Department to start issuing daily fines until he complies.

Attached you will find the Sales Day Report for the Water Refunding. The City ended up saving \$465,000 which is almost exactly what was expected. The actual transactions will occur on the 27th. As you are aware, 2 bonds were refinanced. The USDA will be doing an EFT to get paid off and we are going to have to write a check for almost \$615,000 to Bond Services Trust from the balance of the loan funds to pay off the 2nd bond that was refinanced.

Finally, the Nikolay Foundation made a donation in the amount of \$8500 for the Shortner Trust Fund.

Comments by the Public – None

Accidents/Incidents/Training - None

Police Department Update – It was noted that the minutes from December were incorrect.

Approve/Disapprove Police Department Bills – Motion approve the bills in the amount of \$30,594.13 by *D. Rachu/Weix. Unanimous.*

Fire Department Update – Mr. Weix presented the Fire Department update. In addition, Mr. Weix noted that Central Fire will be receiving bids on a new fire truck.

Public Works Update - Public Works Director Stuttgen stated that the City is running into issues with the railroad on the Linden Street project. The railroad will not give the city an easement to run the water on their property unless the city agrees to repair their culvert. The estimated cost of repairing the culvert alone is at least \$250,000. City staff will look at other options to solve the flooding issues on Linden Street.

Discussion: N. 3rd St. – Administrator Grady and Public Works Director Stuttgen informed the Council that the City received an opportunity to get a \$14,000 LRIP-MSILT grant. The money because available because another community was unable to use it in the required time period. The project must be completely finished by June 30th

Public Works Director Stuttgen presented two project. North 3rd Street and 11th Street as likely candidates. North 3rd Street would allow the city to maximize the use of the grant money and use TIF money as city matching funds.]

The Committee of the Whole agreed to proceed with N.3rd and give formal approval at the next City Council meeting.

Discussion: Red Arrow Park Shelter Roof – Public Works Director Stuttgen infomed the Committee that the sign at Red Arrow Park was broken during heavy winds. Public Works Director Stuttgen will get quotes on a replacement.

Discussion: 11th Street Resurfacing - Discussed with N. 3rd St

Discussion: Annual TIF Meeting – Mr. Weix stated that the annual TIF meeting should occur on or near July 1st every year.

Discussion: Property Insurance – Some members of the Committee asked if we could try to get insurance quotes earlier in the year.

Discussion: Police Commission Attendance – It was requested that the City Administrator attend the budget meeting for the Police Commission. Alder Kramer

resigned from his seat on the Police Commission. Alder Kramer will be replaced by Alder Mason Rachu until re-organization.

Discussion: Voting – Alder Kramer brought up some issue that he had with November 2020 election. Administrator Grady stated that he was already working with the Elections Commission on those issues.

Discussion: Residential TIF Properties – Administrator Grady stated that nobody has come forward with proposals to develop the Schilling land yet. It was noted that the current cost of construction has increased dramatically since the beginning of Covid making any construction project challenging at this time.

Water/Wastewater Update - Water/Waste Water Manager Soyk informed the Committee that a new fluoride scale was

Approve/Disapprove New Fluoride Scale - Water/Waste Water Manager Soyk informed the Committee that a new fluoride scale was needed. Motion to approve Hawkins Chemical and to bring the issue back to the City Council for formal approval by *M. Rachu/Huther. Unanimous.*

Approve/Disapprove 3rd Avenue Lift Station Repairs - Water/Waste Water Manager Soyk informed the Committee that emergency repairs were made to the pumps. If the repairs were not made residents could have had sewage backups in their basements. The Committee asked that this issue be brought back to the City Council for formal approval.

December 2020 Financials – Preliminary Year End – Presented. Administrator Grady reminded the Committee that these are not the final numbers and that the City would not receive those until the annual audit has been complete.

Approve/Disapprove January 2021 Bills – Motion to approve the bills in the amount of \$786,891.91 by *Kramer/Weix. Unanimous.*

Item for the Next Agenda – N. 3rd St, Fluoride scale, 3rd Ave lift station, 318 N. First St, a purchasing policy

The City Council adjourned at 7:24 P.M..

Next Meetings: City Council – February 1, 2021, Committee of the Whole February 17, 2021

Colby/Abbotsford Police Commission Meeting January 11, 2021 6:30 P.M.

The Colby/Abbotsford Police Commission (CAPC) meeting was called to order by President Todd Schmidt at 6:30 p.m. at the Colby/Abbotsford Police Department (CAPD). Members present were: Todd Schmidt, Randy Hesgard, Dan Hederer, Roger Weideman and Dennis Kramer. Frankie Soto was absent. Also present were: Police Chief Jason Bauer, Abbotsford Mayor Lori Voss, and Kevin O'Brien-TP Printing.

Public Comment: None

Minutes from the December 14, 2020 Meeting:, Motion was made by Hederer, seconded by Kramer to approve the minutes from the December 14, 2020 meeting as presented. Motion carried with a voice vote.

Expenditures: Motion was made by Hederer, seconded by Hesgard to approve December expenditures as presented in the amount of \$30,594.13. Hesgard asked for clarification of the amount posted in the Metal Plate Fund. Chief Bauer said the account basically tracks in and out collections of local payments forwarded to the state, with \$12.00 out of each transaction retained by the CAPD. Motion carried with a voice vote.

2020 Budget Amendments: Motion was made by Hederer, seconded by Weideman to approve 2020 Budget Amendments as follows: Revenue Adjustments: \$10,800; Expense Adjustments: \$10,800 (Salaries, \$4,000; Telephone, \$900; Auto Maintenance, \$1,300; Computer Software Maintenance, \$2,000; Computer Maintenance, \$1,000; Investigations, \$1,000; Clothing-Vests, \$600). Chief Bauer said the \$4,000 adjustment in Salaries was due to 27 payrolls processed in 2020, instead of 26 payrolls budgeted for. Motion carried with a voice vote.

Chief's Report: The K-9 was deployed two times in December, resulting in two arrests. There were 55 total arrests in 2020 due to K-9 deployment, compared to 52 total arrests in 2019. There were 843 activities reported for the month of December. Year-to-date activities have been 10,361 compared to 10,270 activities through the month of December 2019. Chief Bauer said the traffic stop activity numbers were less due to COVID-19 precautions. He said the total miscellaneous activity numbers increased from 1,990 in 2019 to 2,590 in 2020 mainly due to School Resource Officer actions. Chief Bauer said an update to the Use of Force Policy mandated by the federal government was covered in the Lexipol training program. He added that new officer Eric English has been exceeding expectations, mainly due to his experience and training as a reserve with the Clark County Sheriff's Department. Motion was made by Hesgard, seconded by Kramer to accept and file the Chief's Report. Motion carried with a voice vote.

Meeting date for February 2021: The next CAPC meeting will be held at 6:30 p.m. on Monday, February 8, 2021 at the CAPD.

Adjournment: Motion was made by Hederer, seconded by Hesgard to adjourn the meeting at 6:42 p.m. Motion carried with a voice vote.

RESOLUTION 1-2021 APPROVING AMENDMENTS TO THE 2020 BUDGET

Whereas, certain authorized expenditures within the adopted 2020 Annual Budget need to be reallocated; and

Whereas, according to Wisconsin Statues no appropriations remain overexpended at year end within the annual budget;

NOW, THEREFORE, BE IT RESOLVED by the Police Commission of the Abbotsford and Colby Common

Councils that the 2020 budget be amended as follows: Reallocation as follows: **REVENUES:** 500-43005-414 MISC. REVENUES + 8,500.00 TOTAL ADJUSTMENTS TO REVENUES 8,500.00 **EXPENSES:** 500-51001 **SALARIES** + 4,000.00 500-51003 **TELEPHONE** + 700.00 + 1,300.00 500-51006 **AUTO MAINTENANCE** + 2,000.00 500-51016 COMPUTER SOFTWARE MAINT. + 500.00 500-51017 **COMPUTER MAINTENANCE** TOTAL ADJUSTMENTS TO EXPENSES 8,500.00 Adopted this 11th day of January, 2021. Signed: Attest:



ABBOTSFORD

P.O. Box 589 | 203 N. First St. | Abbotsford, WI 54405 Phone: 715-223-3444 | Fax: 715-223-8891

Wisconsin's First City

Website: www.ci.abbotsford.wi.us

February 1, 2021

Five Year Road Plan

3rd Steet Pine Street to terminus (asphalt, curb)

W. Elm St 2nd Lane to dead end (curb repair, asphalt)

11th St Spruce St to E. Elm St (asphalt only)

S. 7th St Linden sSt to dead end (base asphalt)

W. Linden St Storm Sewer project

W. Linden St Industrial Park Rd to 4th Ave (storm sewer repair, curb, asphalt)

1st St Pine St to Maple St (curb, ashalt)

W. Cedar St 2nd Ave to 3rd Ave.



PRECISION

Sealcoating Inc.

Date: 1/20/2021

TO: City Of Abbotsford 203 N. First St. Abbotsford, WI. 54405 FOR: 2021 Street Sweeping Quote

Contact: Craig Stuttgen Phone: 1-715-223-3444 1-715-613-9444

Fax: 1-715-223-8891

DESCRIPTION	AMOUNT
Description Of Work To Be Performed	
For The Cities 2021 Season	
Quote: For Street Sweeping Of Street Curb lines With Street Sweepers	
Debris To Be Dumped At The City Of Abbotsford In The Cities Designated Area	
To Included The Use Of Water At Cities Area For Street Sweeping	
(As Per Talking With Craig)	
Lump Sum Pricing	Spring- \$4,495.00
	Fall- \$4,500.00
After Acceptance Will Need Maps	
Will Be Invoiced After Every Sweeping Is Complete	
Once Signed I Will Get You A Copy Of My Insurance As Additional Insurer	
Acceptance of Bid:	
Date: Title:	
Precision's Authorized Signature:Jim Wedde	
Date: 1/20/21 Title: Precision Sales	
FEDERAL ID# 39-18-14017 STATE ID# 514407 TOTAL	\$8,995.00

If Accepted Signature Required & Copy Sent Back !!!

Make all checks payable to: Precision Sealcoating Inc.
Payment is due within 30 days of Invoice upon completion.
Payments not received when due will incur a late payment charge that will be computed at the rate of 18% APR.
If you have any questions concerning this please contact
Bob Wedde Owner
(920) 229-3306



N6450 River Road Princeton, WI 54968 PHONE (920) 229-3306 FAX (920) 295-6709





January 29, 2021

Dan Grady, City Administrator City of Abbotsford 203 N. First Street, P.O. Box 589 Abbotsford, WI 54405

RE: N. 4th Avenue Improvements Project

Dear Administrator Grady, Mayor Voss & City Council:

On Thursday, January 28, City of Abbotsford opened bids for the aforementioned project. Seven (7) bids were received. After verification, bids ranged from \$574,252.50 to \$694,113.50. The low bid was from Switlick & Sons, Inc. of Athens, WI. I have attached a bid tabulation showing the bids received. It is our opinion that the City received comparable and competitive bids. Cedar Corporation's Opinion of Probable Cost of Construction w/Contingencies was \$759,580.00.

Accordingly, I recommend that the City of Abbotsford award the N. 4th Avenue Improvements Project for the amount of \$574,252.50 to Switlick & Sons, Inc. contingent upon receipt of bonds and insurance.

Cedar Corporation will attend your City Council meeting to present this correspondence and answer any questions you may have. If you have any questions prior to the meeting, do not hesitate to contact me.

Respectfully Submitted, CEDAR CORPORATION

Brian Chapman Project Manager

Cedar

BID TABULATION

N. 4th Avenue Improvements WisDOT LRIP-S City of Abbotsford, Clark County, WI

January 28, 2021

			Switlick &	Sons, Inc.	Francis M	elvin, Inc.	Haas Sc	′	Steen Constr	ruction, Inc.
			Athen	/	Medfo		Thor		Dorches	
Item	Unit	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Sanitary Sayyay Construction										
Sanitary Sewer Construction 1 Sanitary Sewer Lateral, PVC, SDR 35, 6"	L.F.	60	\$48.00	¢2 990 00	\$22.00	¢1 000 00	\$20.25	¢1 755 00	\$25.00	\$2,100,00
•			*	\$2,880.00	\$33.00	\$1,980.00		\$1,755.00	\$35.00	\$2,100.00
2 Sanitary Sewer, PVC, SDR 35,8"	L.F.	390	\$48.00	\$18,720.00	\$33.00	\$12,870.00		\$15,697.50	\$45.00	\$17,550.00
3 Sanitary Manhole, Type I, Casting	V.F.	8	\$300.00	\$2,400.00	\$662.00	\$5,296.00		\$3,080.00	\$400.00	\$3,200.00
4 Adjust Sanitary Manhole Casting	EA.	6	\$400.00	\$2,400.00	\$215.00	\$1,290.00		\$4,380.00	\$200.00	\$1,200.00
5 Televising	L.F.	390	\$7.75	\$3,022.50	\$1.05	\$409.50		\$585.00	\$2.00	\$780.00
Subtotal Sanitary Sewer				\$29,422.50		\$21,845.50		\$25,497.50		\$24,830.00
Watermain Construction										
6 Water Service Lateral, HDPE, 1.0"	L.F.	35	\$30.00	\$1,050.00	\$30.00	\$1,050.00	\$26.25	\$918.75	\$35.00	\$1,225.00
7 Corporation Stop, 1.0"	EA.	1	\$250.00	\$250.00	\$324.00	\$324.00	\$150.00	\$150.00	\$300.00	\$300.00
8 Curbstop, 1.0"	EA.	1	\$250.00	\$250.00	\$304.00	\$304.00	\$240.00	\$240.00	\$350.00	\$350.00
9 Adjust Gate Valve Box (Replace Top Section)	EA.	9	\$400.00	\$3,600.00	\$172.00	\$1,548.00	\$275.00	\$2,475.00	\$250.00	\$2,250.00
Subtotal Watermain				\$5,150.00	·	\$3,226.00		\$3,783.75		\$4,125.00
				ŕ		ŕ		ŕ		ŕ
Storm Sewer Construction										
10 Storm Sewer, HDPE, 12"	L.F.	85	\$38.00	\$3,230.00	\$25.95	\$2,205.75	\$40.25	\$3,421.25	\$39.00	\$3,315.00
11 Storm Sewer, HDPE, 15"	L.F.	15	\$40.00	\$600.00	\$36.75	\$551.25	\$42.25	\$633.75	\$50.00	\$750.00
12 Storm Sewer, HDPE, 18"	L.F.	60	\$40.00	\$2,400.00	\$32.55	\$1,953.00	\$44.75	\$2,685.00	\$55.00	\$3,300.00
13 Storm Inlet, Nyoplast, Casting	EA.	3	\$3,000.00	\$9,000.00	\$2,206.00	\$6,618.00	\$1,600.00	\$4,800.00	\$2,500.00	\$7,500.00
14 Storm Manhole, Nyoplast, Casting	EA.	1	\$5,100.00	\$5,100.00	\$4,695.00	\$4,695.00	\$1,600.00	\$1,600.00	\$5,000.00	\$5,000.00
Rehabilitate Storm Structure (Remorter Around										·
Pipe/New Invert)	EA.	3	\$1,100.00	\$3,300.00	\$250.00	\$750.00	\$750.00	\$2,250.00	\$200.00	\$600.00
16 Concrete Manhole, Casting	V.F.	4	\$600.00	\$2,400.00	\$860.00	\$3,440.00	\$500.00	\$2,000.00	\$450.00	\$1,800.00
17 Adjust Existing Storm Structure Casting	EA.	11	\$300.00	\$3,300.00	\$165.00	\$1,815.00	\$500.00	\$5,500.00	\$200.00	\$2,200.00
18 Perforated Pipe Underdrain, Wrapped, 6"	L.F.	4950	\$6.00	\$29,700.00	\$4.00	\$19,800.00	\$7.00	\$34,650.00	\$7.50	\$37,125.00
19 Pipe Underdrain and Cleanout, 6"	L.F.	225	\$8.00	\$1,800.00	\$21.95	\$4,938.75	\$10.00	\$2,250.00	\$8.00	\$1,800.00
Subtotal Storm Sewer				\$60,830.00		\$46,766.75		\$59,790.00		\$63,390.00

			Switlick &	Sons, Inc.	Francis M	elvin, Inc.	Haas So	ons, Inc.	Steen Const	ruction, Inc.
			Ather	ıs, WI	Medfo	ord, WI	Thor	p, WI	Dorche	ster, WI
Item	Unit	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Street Construction										
20 Remove Curb & Gutter	L.F.	5200	\$1.00	\$5,200.00	\$1.25	\$6,500.00	\$2.00	\$10,400.00	\$2.50	\$13,000.00
21 Asphaltic Pavement Removal	S.Y.	4000	\$1.00	\$4,000.00	\$1.25	\$5,000.00	\$1.50	\$6,000.00	\$2.50	\$10,000.00
22 Concrete Pavement Removal	S.Y.	6400	\$2.00	\$12,800.00	\$3.55	\$22,720.00	\$3.00	\$19,200.00	\$3.50	\$22,400.00
23 Sawcut	L.F.	530	\$5.00	\$2,650.00	\$2.50	\$1,325.00	\$2.50	\$1,325.00	\$3.00	\$1,590.00
24 Excavation	C.Y.	6000	\$6.00	\$36,000.00	\$6.95	\$41,700.00	\$6.00	\$36,000.00	\$11.00	\$66,000.00
25 Geotextile Fabric, Type SR	S.Y.	11600	\$1.50	\$17,400.00	\$1.30	\$15,080.00	\$1.50	\$17,400.00	\$3.00	\$34,800.00
26 Breaker Stone Subbase Course, 12"	C.Y.	3900	\$14.00	\$54,600.00	\$19.35	\$75,465.00	\$19.50	\$76,050.00	\$20.00	\$78,000.00
27 Crushed Aggregate Base, Roadway 8"	C.Y.	2600	\$14.00	\$36,400.00	\$24.80	\$64,480.00	\$21.50	\$55,900.00	\$20.00	\$52,000.00
28 Crushed Aggregate Base, Driveway 6"	C.Y.	100	\$23.00	\$2,300.00	\$28.00	\$2,800.00	\$22.00	\$2,200.00	\$20.00	\$2,000.00
29 Temporary Inlet Protection	EA.	15	\$10.00	\$150.00	\$30.00	\$450.00	\$125.00	\$1,875.00	\$250.00	\$3,750.00
30 Temporary Stone Tracking Pad	EA.	2	\$200.00	\$400.00	\$100.00	\$200.00	\$750.00	\$1,500.00	\$500.00	\$1,000.00
31 HMA, Binder, 2.00"	S.Y.	10400	\$8.50	\$88,400.00	\$8.50	\$88,400.00	\$8.50	\$88,400.00	\$8.50	\$88,400.00
32 HMA, Surface, 2.00"	S.Y.	10400	\$8.00	\$83,200.00	\$8.10	\$84,240.00	\$8.05	\$83,720.00	\$8.00	\$83,200.00
33 HMA, Driveway	S.Y.	75	\$40.00	\$3,000.00	\$30.65	\$2,298.75	\$30.50	\$2,287.50	\$30.25	\$2,268.75
34 Concrete Curb & Gutter, 6" Sloped, 30" Type J	L.F.	5200	\$12.50	\$65,000.00	\$10.91	\$56,732.00	\$10.41	\$54,132.00	\$11.20	\$58,240.00
35 Concrete Sidewalk, 4"	S.F.	80	\$10.00	\$800.00	\$7.15	\$572.00	\$10.00	\$800.00	\$7.25	\$580.00
36 Concrete Driveway, 6"	S.F.	2350	\$6.50	\$15,275.00	\$6.15	\$14,452.50	\$5.25	\$12,337.50	\$6.50	\$15,275.00
37 Pavement Marking, 4" Epoxy, Yellow	L.F.	425	\$3.00	\$1,275.00	\$2.65	\$1,126.25	\$2.60	\$1,105.00	\$0.60	\$255.00
38 Pavement Marking, 12" Epoxy, White	L.F.	175	\$13.00	\$2,275.00	\$13.25	\$2,318.75	\$13.00	\$2,275.00	\$16.50	\$2,887.50
39 Pavement Marking, Crosswalk, 24" Epoxy, White	L.F.	225	\$17.00	\$3,825.00	\$16.35	\$3,678.75	\$16.00	\$3,600.00	\$22.75	\$5,118.75
40 Traffic Control	L.S.	1	\$15,000.00	\$15,000.00	\$4,300.00	\$4,300.00	\$7,700.00	\$7,700.00	\$8,000.00	\$8,000.00
41 Topsoil, Turf, Grasses, and Emat	S.Y.	5780	\$5.00	\$28,900.00	\$4.50	\$26,010.00	\$5.05	\$29,189.00	\$5.50	\$31,790.00
Subtotal Street Construction				\$478,850.00		\$519,849.00		\$513,396.00		\$580,555.00
PROJECT TOTAL:				\$574,252.50		\$591,687.25		\$602,467.25		\$672,900.00

				Gerke Exca	-	A-1 Excav	•	Earth	
				Toma	/	Bloom		Arpii	
	Item	Unit	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total
Sa	anitary Sewer Construction								
1	Sanitary Sewer Lateral, PVC, SDR 35, 6"	L.F.	60	\$38.11	\$2,286.60	\$55.00	\$3,300.00	\$34.00	\$2,040.00
2	Sanitary Sewer, PVC, SDR 35,8"	L.F.	390	\$84.20	\$32,838.00	\$42.00	\$16,380.00	\$37.00	\$14,430.00
3	Sanitary Manhole, Type I, Casting	V.F.	8	\$326.21	\$2,609.68	\$382.00	\$3,056.00	\$660.00	\$5,280.00
4	Adjust Sanitary Manhole Casting	EA.	6	\$196.47	\$1,178.82	\$356.00	\$2,136.00	\$660.00	\$3,960.00
5	Televising	L.F.	390	\$1.97	\$768.30	\$3.00	\$1,170.00	\$8.00	\$3,120.00
Sι	ubtotal Sanitary Sewer				\$39,681.40		\$26,042.00		\$28,830.00
W	vatermain Construction								
6	Water Service Lateral, HDPE, 1.0"	L.F.	35	\$24.35	\$852.25	\$46.00	\$1,610.00	\$30.00	\$1,050.00
7	Corporation Stop, 1.0"	EA.	1	\$286.03	\$286.03	\$427.00	\$427.00	\$460.00	\$460.00
8	Curbstop, 1.0"	EA.	1	\$567.56	\$567.56	\$405.00	\$405.00	\$460.00	\$460.00
9	Adjust Gate Valve Box (Replace Top Section)	EA.	9	\$194.98	\$1,754.82	\$234.00	\$2,106.00	\$170.00	\$1,530.00
Sι	ubtotal Watermain				\$3,460.66		\$4,548.00		\$3,500.00
St	corm Sewer Construction								
10	Storm Sewer, HDPE, 12"	L.F.	85	\$27.90	\$2,371.50	\$73.00	\$6,205.00	\$50.00	\$4,250.00
11	Storm Sewer, HDPE, 15"	L.F.	15	\$106.89	\$1,603.35	\$78.00	\$1,170.00	\$80.00	\$1,200.00
12	2 Storm Sewer, HDPE, 18"	L.F.	60	\$32.52	\$1,951.20	\$82.00	\$4,920.00	\$45.00	\$2,700.00
13	3 Storm Inlet, Nyoplast, Casting	EA.	3	\$2,049.40	\$6,148.20	\$2,575.00	\$7,725.00	\$2,300.00	\$6,900.00
14	Storm Manhole, Nyoplast, Casting	EA.	1	\$5,742.77	\$5,742.77	\$5,800.00	\$5,800.00	\$5,000.00	\$5,000.00
15	Rehabilitate Storm Structure (Remorter Around								
	Pipe/New Invert)	EA.	3	\$1,030.58	\$3,091.74	\$900.00	\$2,700.00	\$1,200.00	\$3,600.00
16	6 Concrete Manhole, Casting	V.F.	4	\$552.14	\$2,208.56	\$892.00	\$3,568.00	\$740.00	\$2,960.00
17	Adjust Existing Storm Structure Casting	EA.	11	\$195.95	\$2,155.45	\$356.00	\$3,916.00	\$650.00	\$7,150.00
18	, 11	L.F.	4950	\$9.94	\$49,203.00	\$8.00	\$39,600.00	\$8.50	\$42,075.00
	Pipe Underdrain and Cleanout, 6"	L.F.	225	\$48.46	\$10,903.50	\$40.00	\$9,000.00	\$20.00	\$4,500.00
Sι	ıbtotal Storm Sewer				\$85,379.27		\$84,604.00		\$80,335.00

			Gerke Exc	avating Inc.	A-1 Excav	vating Inc.	Eartl	Inc.
			Toma	h, WI	Bloom	er, WI	•	n, WI
Item	Unit	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total
Street Construction								
20 Remove Curb & Gutter	L.F.	5200	\$1.49	\$7,748.00	\$3.00	\$15,600.00	\$2.00	\$10,400.00
21 Asphaltic Pavement Removal	S.Y.	4000	\$1.51	\$6,040.00	\$3.00	\$12,000.00	\$1.00	\$4,000.00
22 Concrete Pavement Removal	S.Y.	6400	\$2.53	\$16,192.00	\$6.00	\$38,400.00	\$4.00	\$25,600.00
23 Sawcut	L.F.	530	\$2.40	\$1,272.00	\$3.00	\$1,590.00	\$5.00	\$2,650.00
24 Excavation	C.Y.	6000	\$8.49	\$50,940.00	\$9.00	\$54,000.00	\$9.00	\$54,000.00
25 Geotextile Fabric, Type SR	S.Y.	11600	\$1.34	\$15,544.00	\$1.30	\$15,080.00	\$2.10	\$24,360.00
26 Breaker Stone Subbase Course, 12"	C.Y.	3900	\$24.73	\$96,447.00	\$23.00	\$89,700.00	\$25.00	\$97,500.00
27 Crushed Aggregate Base, Roadway 8"	C.Y.	2600	\$20.25	\$52,650.00	\$23.00	\$59,800.00	\$24.00	\$62,400.00
28 Crushed Aggregate Base, Driveway 6"	C.Y.	100	\$35.23	\$3,523.00	\$33.00	\$3,300.00	\$30.00	\$3,000.00
29 Temporary Inlet Protection	EA.	15	\$97.62	\$1,464.30	\$30.00	\$450.00	\$100.00	\$1,500.00
30 Temporary Stone Tracking Pad	EA.	2	\$1,253.31	\$2,506.62	\$800.00	\$1,600.00	\$1,000.00	\$2,000.00
31 HMA, Binder, 2.00"	S.Y.	10400	\$8.40	\$87,360.00	\$8.50	\$88,400.00	\$8.52	\$88,608.00
32 HMA, Surface, 2.00"	S.Y.	10400	\$8.03	\$83,512.00	\$8.00	\$83,200.00	\$8.15	\$84,760.00
33 HMA, Driveway	S.Y.	75	\$30.32	\$2,274.00	\$40.00	\$3,000.00	\$40.00	\$3,000.00
34 Concrete Curb & Gutter, 6" Sloped, 30" Type J	L.F.	5200	\$11.99	\$62,348.00	\$12.00	\$62,400.00	\$10.80	\$56,160.00
35 Concrete Sidewalk, 4"	S.F.	80	\$10.20	\$816.00	\$11.00	\$880.00	\$9.00	\$720.00
36 Concrete Driveway, 6"	S.F.	2350	\$6.12	\$14,382.00	\$6.10	\$14,335.00	\$7.00	\$16,450.00
37 Pavement Marking, 4" Epoxy, Yellow	L.F.	425	\$2.65	\$1,126.25	\$3.00	\$1,275.00	\$2.80	\$1,190.00
38 Pavement Marking, 12" Epoxy, White	L.F.	175	\$13.26	\$2,320.50	\$14.00	\$2,450.00	\$13.10	\$2,292.50
39 Pavement Marking, Crosswalk, 24" Epoxy, White	L.F.	225	\$16.32	\$3,672.00	\$17.00	\$3,825.00	\$17.00	\$3,825.00
40 Traffic Control	L.S.	1	\$3,150.00	\$3,150.00	\$7,200.00	\$7,200.00	\$9,000.00	\$9,000.00
41 Topsoil, Turf, Grasses, and Emat	S.Y.	5780	\$5.08	\$29,362.40	\$1.00	\$5,780.00	\$4.85	\$28,033.00
Subtotal Street Construction				\$544,650.07		\$564,265.00		\$581,448.50
PROJECT TOTAL:				\$673,171.40		\$679,459.00		\$694,113.50



QUOTE

Number

CESQ34249

Date Expires Jan 14, 2021

12265 Nicollet Ave., Burnsville, MN 55337

Feb 13, 2021

Headquarters

707 Ford Street, Kimberly, WI 54136 t. 920-733-4425 f. 920-733-0211

Ship To

Josh Soyk

P.O. Box 589

t. 952-444-1949

Abbotsford, City of

504 East Linden Street

Abbotsford, WI 54405

Fluid Technology Sales

Travis Walker

Sales Rep

920-219-1090

t.walker@craneengineering.net

Project Coordinator - Water &

Wastewater

Ashley Crowder 920-257-0159

a.crowder@craneengineering.net

Sold To

Abbotsford, City of Josh Soyk

P.O. Box 589 504 East Linden Street Abbotsford, WI 54405

j.soyk@ci.abbotsford.wi.us Phone 715-223-3444

Fax

j.soyk@ci.abbotsford.wi.us Phone 715-223-3444

Fax

Crane Engineering is pleased to present the below quote.

	Terr	ns	RFQ	Ship Via	FOB	Cran	e Order#
	n1!	5		Best Way	Warehou	use	
Line	Qty		Product		Lead Time *	Unit Price	Ext. Price
1	1	Rosemound * Sensor * Transm * Transm * Transm * Conduit * Sensor * Lining N * Electrod * Flange * Flange * Transm * Ground * Submer Combo Cal	IR1A1FPSA040CA1M4G1R0 t 8750W Utility Magnetic Flow Design Revision D: Revision litter Class M: Revision 4 Elec litter Mount R: Remote Field litter Power 1: AC Power Sup litter Outputs A: 4-20mA; Dig t Entries 1: 1/2-14 NPT Style F: Flanged Material P: Polyurethane de Material S: 316L Stainless de Type A: 2 Measurement E Type and Material C: Slip-On Rating A1: ASME B16.5, Clas litter Display M4: Local Opera Ring G1: 316L Stainless Ste rgence Protection R05: Potte ble/Cable Gland Options Z1: Standard Produ	v Meter System, 4 "D" ctronics Mount vply (90 to 250VA gital HART; Scala s Steel lectrodes - Stand n, Raised-Face, Ca ss 150 ator Interface eel (Qty 2) d Junction Box w	aC, 50-60Hz) ble Pulse ard arbon Steel	\$2,698.00 5 i H	\$2,698.00 /50.00

\$ 2,848

Total \$2,698.00

Once you have reviewed our quote, please let us know if you have any additional information or would like to proceed with ordering.

Price does not include tax and shipping charges unless stated above.

CRANE'S ONLINE STORE IS NOW OPEN!

22

Approve purchases for your team Assign your own part numbers 24/7 Access to pricing

Visit shop.craneengineering.net

1 of 1

QUOTATION

Sheet <u>1</u> of <u>1</u>

To: City Of Abbotsford Josh Soyk i.soyk@ci.abbotsford.wi.us		Please reply to: William E. Young Company 2300 Myrtle Avenue Suite 150 St. Paul, MN 55114 Telephone: 651-644-2294 Fax: 651-644-2395					
Date: 1/21/2021	Your Inquiry Date: 1/18/2021		Your Inquiry Numb	er:			
Project Number:	Project Identification: 4 inch meter retro		Project Location: Abbotsford				
Quotation Number: 210121MJS Rev 1	Terms: Net 30 Days	F.O.B.: Factory		Lead Time: 4-5 Weeks			

<u>ltem</u>	Qty.	<u>Description</u>	Price <u>Each</u>	Total <u>Price</u>
1	1	8750WDMW1A1FPSA040CA1M4AXDW Rosemount 4" Magnetic Flowmeter System Remote mount transmitter with LOI NSF Polyurethane liner 316 SST electrodes, standard 150 lb RF carbon steel flanges (2) SST grounding rings Combination signal and coil cable, 25 ft	\$ 2,561.16	\$ 2,561.16
3		Freight estimate QUOTE TOTAL: NOTE: Pricing does not include any applicable sales tax.		\$ 200.00 \$ 2,761.16

By:

Jaremy Schumacher (jaremy@wmyoung.com)

NYAD, Inc. 1647 Willow Pass Road #509 Concord, CA 94520

Quote

Date	Quote #	Quote Validity
1/19/2021	Q31401	60 Days

Name/Address	8.	
City of Abbotsford		
	8	

Payment Terms	FOB
Credit Card	Concord, CA

Item	Description	Qty		Rate	Total
MS50B REV1	MS50B Probe Bendix w/Nut,Frl Only Rev1		2	933.00	1,866.00
	LEAD TIME: 5 IN STOCK. ONCE SOLD, 4-6 WEEK LEAD TIME				
	SHIPPING: PRE PAY AND ADD TO INVOICE OR FREIGHT COLLECT				
RECAL (Premium	Recalibrate Moisture Probe Certificate of Conformance included MS50B W/ N/F SN 97598B MS50B W/ N/F SN 99123B		2	533.00	1,066.00
	LEAD TIME: 4-6 WEEKS				
	SHIPPING: PRE PAY AND ADD TO INVOICE OR FREIGHT COLLECT				
	OUT-OF-STATE, EXEMPT FROM SALES TAX			0.00%	0.00
					ж
				-	
				2.	
			Tota	I	\$2,932.00

Phone #	Fax#	E-mail	Web Site
(925) 270-3971	1-888-488-4719	sales@nyad.com	www.nyad.com



ABBOTSFORD

Wisconsin's First City

P.O. Box 589 | 203 N. First St. | Abbotsford, WI 54405 Phone: 715-223-3444 | Fax: 715-223-8891

Website: www.ci.abbotsford.wi.us

APPLICATION FOR BEVERAGE OPERATOR'S LICENSE

FIOVISIONAL LIC	cerise	ree \$15.00	City of Abbo	otsford		
Original Licen	se X	Fee \$25.00	PO Box 589			
Renewal Lice	nse	Fee \$25.00	Abbotsford,	WI 54405	e e	
Wisconsin for fermented ma 125.68(2) of the agree to comp	a license to se It beverages ar ne Wisconsin S bly with all laws	rve, from June 30 nd intoxicating liqu tatues and all act	 2020 to June 30 uors, subject to the amendatory there nances and regulate 	ning body of the City, 2021 inclusive (unle limitations imposed of and supplementations; federal, state of	ess sooner revoke by Section 125.32 ary thereto, and he	2(2) and
Smaza	1 K	ulie	C			
Loot		Fired	NAI			
TRIE OF BIND		Sex R	ace Fat B	Phone Num		
Jouan Jecunty	y Number	v.	Business Lice	ense will be used		
States? ☐Yes ☐No Being first duly	Date of Convid Nature of Offer	tion (If Any) nsesays that he/she		made and signed the		
Applicant's Sig	nature	•		* - *		
		d.				
				* '		ž.
			*	×		
,						Ta.
Received:	13121	Added to Council A	genda:/	/Approved:	1 1	
				2		